$
$
* 4+

# $
%

. .I./u BT /uﬂ

Ju»d




()

S1 9:,:5 -, +-) 2 2 - <8=
- & > < && <2? &7
. $ +0
+
@& 0 79 -7
71T A +27?
7 9 7)9
$ @& 97,9 B 2
> 9,97
0% ,<-B?
- @& -2?-9
- @@ CD ,9+2
E FG
+ 2 +-2H9
> 9,+ 2
$ @@ ++ 2, +- B2
| -8= <8= > - ,-—-8= --,<-8=
o !/ 0
- @ +,;2 $ D9:,; 2
0,9 $ D - 4
A92 $ 9:,;25A 2 $ -, +-
9 E+2 $ 9:,;25E;2 $ -, +--
- ? 9 (
- & A9-?
1 | 2 340
* 2J61D ( K ?
$ (( : 9+7?)
H 9 ?)
&&,"*L D-
&?, %L D9+ 2?
* &41 4D 9< ?
4DO0 $ +?)
& 41D ( H  +?)
(( 4M, , && ,")*L D -
&?, %L D9+ 2?
. @ 4 ( 9 -
- ? , $ &
$ 9< N 3 0
( 5 -6 5
-. 0 +0 N O N
O HP+Q (
P+QP;QP;Q D ) )
-*$$ EH EE AH AA 9,9+ R
- *$ S EHEE AH AA9,9+ R
: H R 70( P:Q -R
: $ $$ R E E9-R A A
- | P-Q (D ) ) H
- *$ % IAHIAA 9,
: $ $3$ IAHIAA D$( 9,
| $%P)Q <SA%A + S
- *$ % $%E H $ %EE 9,::
. $ $3 S$WEH $ %EED $ ( 9,::
- $ ( '
TE TE D ) )
"8 -, < 9
$
- *$ S TE TE 9,9+ R
. TE TE -R
: $ $$ TE TE D:-R
- @ < > 0
- @ , , D P+QP+QP;QP;QP-Q $%P)QTT
. U+R +
& ( P+QP+Q &67 < +-H ? 7 7666 (
P;QP;Q
> ( -H@ $D , > D



N~ A

%

. VKW V6 W
.0 0
“*$ S P-:Q ,+ RC
. +R R,9-RC5R
. $ 7R
- *8 % P+;Q -,9+ RC
. +R
: $ 9 R
- 70( P+Q 9R C (
. U+R +
& ( &67<+-H ?2 77
> ( -H@
|
< >
0% R ,+ 2
7
.0 0
*$ $ 0 +, RC
+R C
$ uR
< >
U+R +
0% R ,+ 2
8 . (
*$ % <5::-8=)- -5- 8=
U 98=
2 $$ +8=
"¢ A9R C
> >
*$ $ , 9
U+R +
0% 9 8=
(9 ( ( "#$
(( IP; @&Q
((
PJIQ E -R 7)E -
3 <,9
9 ( !
?2J& 461
$
-
$ &
( (95 (+
0 ($0
B)
B)
* P<Q
(( 0 P; @&
aM 0(
70(
70( @
| 5 $ (
; 5 <
0
- 0 D O
- @ $ (
- ? $
$ 9 N
.2 ' '78.
$ 0 ?2J&4

611

666
$D

C)X +

<5-1:-8=)< -5< 8=

$ $

P, @&Q
R 7 E9R C

P, @&Q

>

'78.



' 8

' 8

oo >

'78.

NO OO

o "

RS

9,<
0 9,9+ U+R
9 ,-
( '78. $ &
?2J&4611
&
*4 -
6!? Y&6!? HEG6* Y 6!'*
<19 “B?Z
9
+ 7
+$ 9< N
IV 2?28 6 8% 7
( o]+ ~ 2
IV 2?28 6 8% 7
+ 4% &@/ 0
>0 +
*
,99-+ (
-+ $
$ ( , -t
( 8
&67)6 < <H+HI9D ? H9 S&
N O &67)6 < <H+H+D J Y--S&
0 &67)6 < <H+H D & : R8 S& <3
&67)6 < < H+H9 D ( H9 S&,Y--S& S&)
&67)6 < <H+H9 D ? H+- S&
N O &67)6 < <H+H+D J Y; S&
- (
&67)6 <99 HID ?
0 &67)6 <+--H-D-B2 & -B2 .4 " D9MH)-
@K* 9B2
* - B2
-8= <8= &67)6 < +-- H-D +B2 59
@K*9 B2 59
&67)6 <+-H-D- 2 H9 DE9 G
&67)6 < +--H- D $ D+ 2
$ D+
$ D777
&67)6 < -+:D7-9
(< (
*| &67)6 <9 HH<D 777 9 2
&67)6 <+--H++H ) &B67) 6 <9 HHD 72
&67)6 <+--H++ HO9 D 777 +-B2.& 9B2 4
* - 77 9B2.&

&67)6 <9 HH-D 777
&67)6 <+-H99D9 R +



%

&+

<(
-2
. &0
<(

- &0

- &0

B9:b

T T

B
&67)6 <+--H++H

&67)6 <9 HH D 777 9 2)
&67)6 < +--H++H+)
&67)6 <9 HH+D 777 B2 )<B2
&67)6 <9 HH 72 7 ?) 9,
c (
&67)6 <+--H+9H9 D 9H -$
&67)6 <+--H+9H+ D 9H-$)99
C7
&67)6 <+--H+9H9 D 9H9%
&67)6 <+--H+9H+D 9 H9-$)99
&67)6 <+--H+9H+ D 9H9$)9<
&67)6 < <H+H+D 9H +-
- .( I1%$*+0
6 --++D ?
6 --++D ?
C
"9:a
4
+$ 9< N
9; 9< +- 4
9, 9< - 45
<B$
,#O( $ 7 @
!
PE ]

"< Contrale du cablage

Cablage TC

Courart phase 1 (0.14)
Courant phase 2 (3,14)
Coursn phase 3 (3,14)
Courart Direct

Courart Inverse

Cablage TT

Tension Vo
Tension v
Tension va
Tension vy

Lecture des mesures

Lecture deg mesures

450 A
449 A
€52 A
450 A
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